Total number of printed pages—19
3 (Sem-3/CBCS) CSC/TCA/TIT (HG/RC)
2023

COMPUTER SCIENCE/
COMPUTER APPLICATION / INFORMATION
_ TECHNOLOGY
( Honours Generic/ Regular)

- Answer the Questions from any one Option
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1.

Answer the following questions :

| Define the following terms :

OPTION-A
Paper : CSC-HG-3016
( Programming in Python) .

- (@) What is Tuple?

: (b)  What i is the output of type (3) ?

() ‘IDLE stands for

(d) - ROC stands for _

() Which character is used in Python to
make a single line comment ?

liji Each -step of an algorithm is unique
"~ and should be self explanatory.
(State True or False)

(g) Python is a case-sensitive language.
(State Trqe or False)

2x4=8
(@) Debugging

(b). Docume;itaiion

(c) Recursive functiorl

(d) | Head function
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1x7=7

3. Answer any three of the follbwing:
S5x3=15
(@) What is Python interpreter ? What is
the difference between intermediate
mode and script mode ? |
'(b). What are the dlfferences between stnng
and list ?
(¢) Briefly explain multiple assignments in
Python with suitable example.
(d) What arc the differences between flow
chart and algorithm ?
(e) Explain exception handling in brief.
4.  Answer any three of the foIlowing:
: ' 10x3=30
(@) Write short notes on the following :
| () Bitwise operator
(i) Top-Down Approach
(b) Briefly explain any five built in function
that are used in Lists. Give example.
(c/ What do you mean by Python IDE ?
. Explain in detail.
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4 . ‘ | "OPTION-B
(d) - Write a program to create stack class , _ v ‘
" and implement all the methods. . Paper: CSC-HG-3026
(e) | Write a-program to read a number and ( Computer Network and Internet Technologies )
‘ check whether prime or not.
() Write a program to check whether a 1. Answer the following questions : 1x7=7
given year is a leap year or not. . oo i ehiae ew o |
o ' (@) The term HTTP stands for :
: (Fill in the blank) -
HTTP R e g |
| | (0T} 312 73 =)
(b) Peer-to-Peer is a network topology.
- (State True or False)
Peer-to-Peer 9% network topology = |
(8% 1 w5 Sy 7=

() The maximum length (in byte) of an
IPv4 datagram is - '

Answer either in English or in Assamese,

- . (Fillin the blank)
B! IPv4 datagram-3 s o (byte ©)
EC I (T 5% 95 =)
(d) If the System use separate protocol,
device is used to link two
| 3 system. (Fill in the blank)
e - I system @ *j¥F protocol IRIR IE
St e - device 3 TB! system FeRie
e | A T[RRI = (RN} 312 o3 =)
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' Sles ithin a
(e) Data communication system within,

building or campus is
(Fill in the

plank)

i SGIfERA Al campus< foege O @mﬁ.
T | (< 512 97

() Write an example of star topology-

Star topology-=< «ft Tizae |

(9) —is the lowest layer of OSI
(Fill in the

OSI model = wibizwrs 7y ¥ (202 —

(T B2
2. Write short noteg on :

O (Bt fora o

(@) Intranet and Extranet

Intranet s, Extranet
(b) Gateway and Router
Gateway W% Router

(¢) URL anq Web Browaer

URL g, Weh Browser
{ d} E-Commﬁr()e
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blank}
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2><458

3. Answer any three of the following

questions : ox3=15
wor Tl eI Rzt fofabre Tt o ¢

(@) Write the advantages and disadvantages
of star topology.

Star topology-< Rl W% SEfRumETR 14t |

(b) Write the difference between OSI and
TCP/IP reference model.

OSI 9% TCP/IP reference model< I&{
{12 S 4 |

(c) Compare synchronous and asynchronous
data communication.

Synchronous i< asynchronous ©<jJ
AT SeTS woiel 1 |

(d) Explain IEEE 802-3 LANs,

IEEE 802-3 LAN-3 R¥ca 3+f 5 |

(e) Distinguish between LAN and WAN.
LAN 9% WAN-Y 5o #fjeg 941 |
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4.

Answer any three of the following
questions :

10x3=30

wmmm%ﬁmwm

@

()

(c)

- with suitable ex

(d)

- Write a Jay
factorial o

Explain TCP/ 1P reference model. HOW
it differs from OSI reference model?

TCP/IP reference model-3 faca 3 ¥4 |

OSI reference model-3 #151s 339 ity & ¢

Create HTML documents with Ordered
and Unordered list, Inserting Images:

Intern‘_al and External linking.

9% HTML document IGRI TS Ordered
Si% Unordered list, Insertings Images

Interrial w5 External link wfafd® P |

Explain Guided and Unguided media
amples.
O I R Guided W Unguided

aScript program to find the
f number n.

" "R factorial Sfmmie o3t JavaScriPt
Program fawy -
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(e) What is data link layer ? Describe error

control and flow control mechanism
used in data link layer.
Data link layer & ? data link layer J9%®
error control ¥ flow . control
mechanism- @ 31 31|

~Create a form using HTML which has

following types of control :

HTML © 935 YR form I@ER] T© Oo©

~ T@ERe control Reiw A
i) Text Box

(i) Option/Radio Button
(iii) . Check Box

, (iv) Reset and Submit Button
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is called command interpreter in

OPTION -C Linux operating system.
OPERATING SYSTEMS (Fill in the blank)
Paper : CSC-HG-3036/CSC-RC-3016 /TCA—HG—RC—?)Ol6 ¥ Linux operating system-¥
Answer either i BTN o i Aséamese: ‘ command interpreter I F 27 |
: g4 (3Tl 312 27 1)
- Answer the following questions : 1x768
RS e e GEIF: () What is the full form of FAT ?
a ' -
(@) What is Operating system ? FATS % Tt Bl |
Operating system f ¢
(b) Operating Systemtis’ an applicatior; (g9 What is the purpose of Is command ?
~ Software. A Falsé
3 (Wite True or . Is command-¥ St & ¢
Operating system ﬂ'ﬁT applicatlo
SOftWare‘ (@%7_ & TET fr.’:fqﬁ)
() 0 2. Define the following terms : 2x4=8
——— Command is used to copy fil€® '
1\ Linux OPerating system, k) oo il ¥ (3o W{@T o ¢
lan

(Fill in the b

(a) Process
—— T file copy et LAY

OPerating system < i (b) Head scheduling
] 74
@ (T 512 sf!‘f ¢ : (c) Multiprogramming
What are the 40 main function
Operating Systery o (d) Shell
(0] : )
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Answer any three of the following

questions : 5%3=15

05T il eI 7l Riateant fofam ereia Ted ol 3

(@) Write the syntax of if statement used

(b)

()

(d)

(e)
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in shell script with an example.

Shell script © R (@l if statement™
syntax @b} Twigsem re &l |

Explain briefly the functions ol

Operating system.

Operating system-3 farml Retea o3 i
Rl :

Briefly €xplain the state of a Process.
Process—3 state ey anﬁ 4 |

; - e
What is System cell ? Name thr
System ce]lg.

TSgStem Cell & ¢ fofibr system cell™ gl
A

ertﬁ ShOI‘t note Bri‘Process hierafChy.

|
Process hierarchy—?i @ 5 o g

4.
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Answer any three from the following :
10x3=30
et WAl eARE Rieseeatt fofbrq oea i ¢

(@) What are the different types of operating
system ? Briefly explain each.

Operating system-34 Rfeq &5l @R & 2
Bc 3¢l 9|

(b) What is a thread ? How does it differs

from a process? Explain the uses of
threads.

Thread & ? Process &% thread = Wige
ALH @ F 2 Thread 777 36 541 |

(c)- What 1is paging? Expléin the
components of page table entry. When
a page fault occurs ?

Paging & ? Page table entry-3 G
& i 41 Page fault (Ffe7 =

(d) Write a shell script to find the sum of
digits of a given number.

B! TR S5 R @i ]9 T GGl shell
script &4
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- | R | ' . OPTION -D
(e) Write a shell script to find the factors '
of a given number.

Bt YR Geotvr @I SRR <Ot shell Paper : CSC-HG-3046/TIT-RC-3016
“script ot |

ICT HARDWARE

Answer either in English or in Assamese.
(f). Write short notes on : '

. R ; 1. Answer the following questions as directed :
' ‘ W m %‘" H . .b - 1x7=7
(@) First Come First Serve scheduhng ' were Al TR T m forai
o algonthm : '
" (@) was used in first generation
: Sh
(b)‘ al z:;St Job First scheduling J computers as their main component.
s o (Fill in the blank)
S AFT SIS & oA
— - Roret e e (A% gw )
. | o . | (b) Full form of FAT is _ .
i}) : ‘ : - (Fill in the blank)
3 '

, o | . FATS o %ot o1 | |
- (T 378 97 =)
: ‘ ' (¢) Cache memory is costlier than RAM.
’ (State True or False)
I

Cache memory RAM 3 @R ERIN|
(3% @ 9I% &)
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(d) Full form of SMPS is .
(Fill in the blank)
SMPSI sl ol ooy __
(1T 1% 77 )
(e) 64 bit processor can carry _______ the

amount of data than 32 bit processor.
(Fill in the blank)

32 6 Processor (s 64 &5 proceSSOI"‘L£1
—— Ol SRRE 3R i |
(31 3% 75 )

() What is the latest version of Internet

Protoco] ?
(i) IPv4
(i) IPv6 . -
(i) TCP
(iv) DHCPp
(Choose the correct option)

Internet Protocols izsay Heaelol & ?
) IPv4

() IPve
(i) TCp
(ilv) DHCp

(w5 Tewsy foree 9)

16

tands for :
G/ OSBEaS (il in the blank)

USBA . (3 3R 7T )

Write. short notes on : 2x4=8

- B (B Tt g

(@) Functions of BIOS
BIOS—= functions 3R

(b) Difference between CD and DVD
CD ©% DVD-3 AR

(c) Classification of computers
Computer-3 g TR

(d) Different kinds of RAM
RAM-5 Rfen aaieomg

Answer any three questions : 9x3=15

Rizsizart fofabr e Teg fordt ¢

(a) Discuss briefly the new trends in HDD. -
HDD 9+ 4RPTRS {908 556 ScEtinal 1 |

(b) What is computer virus ? Write a short
note on antivirus software.

[*{To ©izas & ¢ Antivirus software-3§
87<® b 5 (Grpl fsi |
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|

(c) Explaip about preventive maintenance
of optical media drives.

weAfbre i wizes afemises T
e =i

(d) Write briefly about different components
of modern computers.

;tiﬁas FATHR Rifem Sz Raca 530
|
() Write a short note on SMPS

SMPSS @*i® «ff 53 (oo forat

Gr,
Answer any three of the following :

‘ 10x3=30
T Al AN R fofabe e i

@) Explain in brier g
of computers,

CornPUteI‘:ﬂ' ﬁF\‘Tﬂ' W ﬁmw a-ﬂ*-g“T

fferent generations

Eail

(b) What ig fi

: 1 :
different ty, © System? What are the€

P€s of file system ? Discuss:

Flle syst
S5} %Y%e;n m 4999 file system™

Rl
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(d)

(e)

3 (8em-3/CBCs) cse/oa (HG/RE)/G 19

|

What are the different types of sockets
and slots found in motherboard ?

Explain each.

Motherboard © & Jfes socket <
slot 7Yz f 16 2 eceyeeo! TRl 1|

Explain about Intel processor family.
What is the latest trends in processor ?

Intel processor SifEIE T I
Processor—=< (.“Tﬁm Wﬁs 2
What .is Network Interface Card?

Discuss network cabling used in
computer network.

Network Interface Card f& ? Computer
network © I8Z© (24l network cable 7323
R Siicetval < |

Write short notes on:
(i) 1P address

(i) Virtual memory

o3 (Bil ferall ¢
'(i) IP. address
(i) SEpEE Rl
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